Possible Solutions for Homework #4

Answers will vary.

For a Normal Distribution with mean 12 and standard deviation 0.3, what is area to the
right of 11.827

correct 0.7257

For a Normal Distribution with mean -g and standard deviation 1.9, what is area to the
right of -8.437

correct 0.3821

For a Normal Distribution with mean 12 and standard deviation 1.2, what is area to the
right of 11.4 7

correct 0.6915

For a Normal Distribution with mean 1 and standard deviation 6.3, what is area to the
right of 8.56 ?

correct 0.1151

For a Normal Distribution with mean g and standard deviation 0.9, what is area to the
right of 9.09?

correct 0.4602

For a Normal Distribution with mean 15 and standard deviation 1.5, what is area to the
left of 18.6 ?

correct 0.9918

For a Normal Distribution with mean -15 and standard deviation 0.9, what is area to the
left of -16.44 ?



correct 0.0548

For a Normal Distribution with mean 10 and standard deviation 0.7, what is area to the
left of 10.14 ?

correct 0.5793

For a Normal Distribution with mean 4 and standard deviation 9.8, what is area in both
tails farther from the mean than 11.84 ?

correct 0.4237

For a Normal Distribution with mean -14 and standard deviation 4.9, what is area in
both tails farther from the mean than -6.65 ?

correct 0.1336

For a Normal Distribution with mean 2 and standard deviation 3.2, what is area in both
tails farther from the mean than -5.36 ?

correct 0.0214

For a Normal Distribution with mean -5 and standard deviation 6 , what is area in both
tails farther from the mean than 5.8 ?

correct 0.0719

For a Normal Distribution with mean 3 and standard deviation 4.9 what values leave
probability 0.146 in both tails?

correct -4.124 10.124

For a Normal Distribution with mean 8 and standard deviation 4.4 what values leave
probability 0.005 in both tails?

correct -4.351 20.351

For a Normal Distribution with mean -14 and standard deviation 7.5 what values leave
probability 0.298 in both tails?

correct -21.805 -6.195

For a Normal Distribution with mean 2 and standard deviation o.5 what values leave
probability 0.12 in both tails?

correct 1.223 2.777



